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("SrCH Verb', 41209), . BlEE Z2X(9~10F), E™(1~4T)o2 B2
('O fJosa’, 38R40), . Z2(5~8H)2 0|9
g iverh, GESE). 222 id(ulol# S5 0t0|C]), document(@| & LHL),
( _ flz'zﬁit I:Jat jon', | 29055), K label(373(0), F5(1)) 37FA]. /
(' 2t/ Josa', 2BB2T), ~
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In [1]: from konlpy.tag import Okt
import json
inport os
from pprint import peprint

In [3]: # 25 &8 HAE (Bt 285 ¥ FA G&)

M

okt = Dkt()
okt pos('HE A ES OHA

[m]
-

HSA= OfLIiol 8zl = 0JF OtLISAS A7, . ")

J
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In [B]: FOF BIC 22 =2 100003480 SR EF ALE
selected_words = [f[0] for f in text.vocabl). most_commont 10000)]

#=F SIS0 Y02 OESET B E OIS0 e 4
def tern_freguency(doc):
return [doc, count (word) for word in selected_words]

train_x = [termn_frequencyid) for d, _ in train_pos]
test_x = [tern_frequencyid) for d, _ in test_pos]
train_y = [¢c for _, ¢ in train_pos]
test_y = [c for _, c in test_pos]
a I
- AFEH 952 otA = &2 Bl= TH0{ 1000071 41EH
. x— 7} BIEE A9l ¥l Tiojot RS0l #OItE B
cyo2telR g /8 ol KA
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medel = models, Sequential ()
mede |, add( | avers, Dense(64, activation= tf.keras. lavers. PReLUS
alpha_initializer="zeros', alpha_reaularizer=Hone,
alpha_constraint=Mone, shared_axes=Mone), input_shape=(10000,)))#10000HE ESHOOT shapsi= 10000

mode|  add( lavers.Dense(1, activation= 'sianoid')) <-c'>-|_A = 7_| S
T H L=
HOE S
mode !, conpl [elont inizer=opt inizers. FMSoropd [r=0,001), =) SEA : .
loss=losses, binary_crossent ropy, i 'Q'I-A-l OI- | SlngId

metrics=[metrics.binary_accuracy])

H =]
] - 3781 28 27HK| 2 O|Z 27/
Ao B =
mode! . fit{x_train, v_train, epochs=10, batch_size=512)

results = model . evaluate(x_test, v_test) * EpOCh - 10
fomilts #5k HAVEE A * batch_size = 512

LIrdcy s 1, origd

Epoch B/10

2937293 [ 1 - 9= 32ns/step - loss: 0.2741 - binarv_accu
racy: 0,887

Epoch 7/10 <7E:| J__||'>
293/793 [ ] - 9= 3Znsfstep - loss: 0.2601 - binary_accu
racy: 0, B8954

Epoth 510 e Loss: 0.3859

293/293 [ 105 Fams/step - loss: 0.2443 - binary_acc .
uracy: 0.9044 « binary_accuracy : 0.8534
poch 9/10 —

293/293 [ ]
uracy: 0.9148

10s 35nsstep - loss: 0.2234 - binary_acc
Epoch 10410
2937293 [ 1 - 10s J5ms/step

loss: 0.2082 - binary_ = SIAE= B
uracy: 0.9234 Os - loss: 0.2081 - binary_accuracy: 0. o e * Prelul_|_ I:l_ o|:| T = A"%Ol'o:l E 85%

156371563 [ ] - 8= Bnsfstep - loss: 0.3847 - binary_acc
\_ olgg doi7r It EE. -

[0.38470733165740967, O.8532800078392024]
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def predict_pos_text(text):
token = tokenizina(text) #nkt pos= SESEE SHE Ho
tf =tern_frequency(token) #ES SIS DAHE I EMGA JiE 20 S5 Srgls et =

data = np.expand_dinsing, asarray(t ), astypel ' float32'), axis=0)
score = fleoat(model predict(data)) £WE2 QIS 2oy W =S
i flscore > 0.5):
printi"[{rl= 1 .2f1x =EZ =24 2IF2LICH " fornat (text, score + 100))

else:
print("[{H = {:.2f1y =EZ 23 2|F2L|CEH 4" format(text, (1 — score) « [00))

predict_pos_text ("0l H= A2 H2IH 2HE BHA0[CH )
predict_pos_text ("0 BSE SLHIOF EESIHE . ")

[OIH= = H2IH 2E BA0ICH= 595.91% === =2 215 SL0LICH

[0 E== 200 HEFHE 1= 98.80% 222 24 2[FLLICH
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# 55 FHE pevE TE

f = open("data/%s. csv" Emovie_name_t, "w")
# gatact S5 O/D) 2 SISHA NS D5 keBF 23

foaritel' =& 2= 217 + stritext_p) + 'fintin’

+ '2H B= 215 0 '+ stritext_n) + "fntin’

+ 23 B2 218 == 0 '+ strilen(score_p)) + 'tintin'

+ '3 Pt= A= B '+ striavap) + indin’

+ B3 B2 218 o= ¢ '+ strilen(score_n)) + 'tintin’

+ 23 Bt= H=Ee He + striavg_n))

f.closel)
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